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COMMENTS CONCERNING THE SRO EXAM

QUESTION: 082 (1.00)

which one of the following 600V LC load centers may be supplied
from 4160V Bus F through 600V load center F?

b.

o]
c X2 X w

ANSWER: 082 (1.00)
a.
COMMENT :

Question 82 has two correct answers a. and c¢. Both load
centers P and M may be supplied from load center F through
4160V Bus F. Load center M, which normal supply is 4160V Bus
D, is key interlocked to align normally to locad center F via
4160V Bus G. The bus may be supplied through load center (LC)
1F via 4160V Bus 1G through the use of two "Bl1l" interlock
keys. While this is not a normal alignment, it is an
alignment that may be utilized during outages. Had the
guestion stated "normally supplied” or "in accordance with
SOP-36.3" answer a. would have been the only valid choice.

SUGGESTION:

Accept answer a. or c. for Question 82.




FNP-1-S0P-36.3
4.10 600 V LC 1F operation.

4.10.1 Energizing 600 V LC 1F to supply 600 v LC 1A
(C, D, E, GPQ, BMN).

NOTE

Refer to Table below to
determine key numbers for
respective interlocks.

INTERLOCK KEY NUMBERS

__Interlock _*lii-ﬂﬁiSFT_"'{
Al RE-14211
A2 RE-14253
Bl RE-14212
B2 RE-11135
sl RE-14210

€.10.1.1 Remove 600 V LC 1F from service
per section 4.10.2.

§.10.1.2 oObtain key S1 from Shift
Foreman.

4.10.1.3 Insert circuit breaker in the
cubicle regquired to surfly the
desired 600 V LC as fo OWE ¢

| _EubicTe "T800 U LT Fupplied |
EF-03 1A
EF-04 11
EF-05 1G6,1p,1¢Q
EF-06 1p
EF-07 ic
EF-08 1E
EF-09 1B,1M,1N

€.10.1.4 Close the circuit breaker.

Rev. 14
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4.10.2

FNP-1-80P-36.3

4.10.1.%5 1Innert key S1 in interlock on
selected cubicle and turn to
lock closed. Remove key Al
(Bl).

£.10.1.6 1Insert key Al (Bl) in disconnect
switch 1A (B) and turn to unlock.

¢.10.1.7 Close disconnect switch 1A (B) and
turn ko{ A2 (B2) to locked closed.
Remove key A2 (B2).

4.10.1.8 1Insert key A2 (B2) in feeder to
gtation service transformer 1F
treaker DF-12 (DG-12) and turn to
urlock.

4.10.1.9 Close feeder to station service
transformer 1F breaker DF-12
(DG~12).

Removing 600 V LC 1F from service.

NOTE

Refer to table below to determine
key numbers for respective
interlocks.

INTERLOCK KEY NUMBERS

T Interlock “Key Number
Al RE-14211
A2 RE-14253
Bl RE-14212
B2 RE-11135
Sl RE-14210

4.10.2.1 Open and rack out feeder to
station service transformer 1F
hreaker DF-12 (DG~12).

4.10.2.2 Turn key A2 (B2) to locked
closed and remove key A2 (B2).

4.10.2.3% 1Insert key A2 (B2) in interlock
on disconnect switch 1A (B) and
turn to unlock.

Rev. 14
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FNP-1-SOP-36.3

4.10.2.4 Open disconnect switch 1A (B)
and turn key Al (Bl) to locked
closed. Remove key Al (Bl).

4.10.2.5 Insert key Al (Bl) in interlock
on selected breaker cubicle and
turn key S1 to unlock. Remove
key S1.

4.10.2.6 Open circuit breaker in
selected cubicle.

§.10.2.7 Return key S1 to Shift Foreman.

4.11 600-480-208/120 velt motor control center (MCC)
operation,.

4.11.1 Energizing 600-208 Vv MCC 1r (G) from
normal supply.

4.11.1.1 Open alternate feeder to MCC 1F
(G) breaker ED-05-2 (EE-09-2).

4.11.1.2 Open alternate supply to MCC 1F
(G) breaker FF-B2 (FG-B2).

4.11.1.3 Close normal lupgly to MCC 1r
(G) breaker FF-A2 (FG-AZ).

$4.11.1.4 Close normal feeder to MCC 1F
(G) breaker ZD-05-1 (EE-11-1).

4.11.1.5 vVerify closed 600,208 V tie
breaker FF-LF5 (FG-LF5).

4.11.2 Energizing 600-208 V MCC 1F (G) from
alternate supply.

“NOTE

Refer to Precautions and
Limitations section 3.2
when energizing 600-208 V
MCC 1F from alternate

supply.

§.11.2.1 Open normal feeder to MCC 1F
(G) breaker ED-05-1 (EE-11-1).

4.11.2.2 Open normal supply to MCC 1F
(G) breaker FF-A2 (FG-AZ).

Rev. 14
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ENCLGSURE 4
NRC RESPONTE AND RESOLUTION TO THE FACILITY COMMENTS

Reject facility comment; SRO Question 082 and answer should stand as written.

Justification for Facility Comment Rejection:

The facility did not provide adequate reference information to support the
contention that answer "c" is a possible correct answer to SRO Question 082.
Attachment 3 to ES-402 of NUREG-1021, "Operator Licensing Examiner Standards,"
states, "The NRC will not change the examination without a reference to support
the facility comment.”

Technical Response to Facility Comment:

The fourth statement of the facility comment states, "The bus may be supplied
through load center (LC) 1F via 4160V Bus IG through the use of two "Bl1"
interlock keys." Supplying 600V LC M from 4160V Bus 1G is not the subject of
Question 082. The contention of the facility is that the 600V LC M can
physically be supplied from 4160V Bus 1F through 600V LC IF using a substitute
Al key to override the train separation interlock system for 600V LC 1F.

There are two problems associated with accepting answer "c" as an additional
correct answer to Question 082:

1. No procedure could be found by the NRC or the “aciiity to detail the
process for aligning 600V LC M to be supplied from 4160V Bus 1F. A
special procedure would have to be written to detail the process for
overriding the key interlock system for 600V LC IF to perform this
alignment.

& If a special procedure can be written to detail how 600V LC M can be
supplied from 4160V Bus 1F through 600V LC 1F, then it is also
feasible to write a special procedure to supply the other answer
choices, 600V LC 1R and 600V LC 1U, from 4160V Bus 1F through 600V
LC 1F. For instance, a sperial breaker and heavy-duty emergency
cabling could be used. Therefore, under special conditions answers
"b" and "d" could also be correct.

Since question 082 does not mention any special conditions, a correct answer
already exists, answer "a." No questions were asked by any applicants during
the examination concerning the existence of special conditions for Question 082.
Without the existence of special conditions, no : ther answers are correct.
Therefore, answer "a" is the single correct answer to SRO Question 082.
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REACTOR OPERATOR Page 2

ANSWER SHEET

Multiple Choice (Circle or X your choice)

Our answer, write your selection in the blank.

MULTIPLE CHOICE 017 MATCHING
001 a b - d L+ a -l
002 a b . d L b rJl
003 a b C d - c fom o
004 a k > d = d T
005 a b - d = MULTIPLE CHOICE
006 a k C d b 018 a b e R nTN
007 MATCHING 019 a b c d s
a Tt 020 a b C @a g
Y Y )21 MATCHING
C O— a ——
d i b E
MULTIPLE CHOICE 8> T
008 a b c d e d e
0Cs a b c d MULTIPLE CHOICE

010 a b - d L. 022 a b c d o
011 a b c d [ 023 a b cC g e
012 a b - d i 024 MATCHING

013 a b a a

b




REACTOR OPERATOR

025
026
027

028

034
035
036
037
038
039
040
041
042
043
044

045

046

Multiple Choice

If you change your answer, write your selection in the blank.

MULTIPLE CHOICE

a

a

b

O .9 v ©v U

e g

- Ry + S ¢ SN - AR+ SR - SN - AR - AR - SR ~ SN - S - S - SR -

~
A

c

(9

0

0

& 2 & o &6 o 0 & 606 0 6 &6 2 2 2 6 o 2 O 2 2 9

{(Circle or X your choice)

ANSWER

047
D48
049
050
051
052
053
054

055

057
058
058
060
061
062
063
064
065
066
067
068

069

SHEET

- R - R - SRS+ SR - SRRIE < SR - SRR - gEE - S - (S - SIS - R SR - SR « AR < U - S - g -

o]

v o v

2 o a6 2 6 2 . @& 2 o0 6 & 2 2 2 2 o O 2 o a O 9 Q




REACTOR OPERATOR

076

082

083

084

Multiple Choice

N

1f you change your answer,

0

a

a

a

b

b

@)

b

b

0

0

0

MULTIPLE CHOIC

0

0

3

2 2 & A

&

(o5

S E LRSS R E RS

S

W

e
w

ER SHEET

(Circle or X your choice)

write your selection in the blank.

END

088 a
089 a
090 a
091 A
092 a
093 a
054 a
095 a

OF EXAMINATION

o O v, v g
0

o
0 0
@7 jo¥ o} Q2 2 joh o8

o
(8]

AR EE AR R AN




NRC RULES AND GUIDELINES FOR LICENSE EXAMINATIONS

Page 5

During the administration of this examination the following rules apply:

1. Cheating on the examination means an automatic denial of your application
and could result in more severe penalties.

After the examination has been completed, you must sign the statement on
the cover sheet indicating that the work is your own and you have not
received or given assistance in completing the examination. This must be
done after you complete the examination.

Restroom trips are to be limited and only one applicant at a time may
leave. You must aveid all contacts with anyone outside the examination
room to avoid even the appearance or possibility of cheating.

Use black ink or dark pencil ONLY to facilitate legible reproductions.

Print your name in the blank provided in the upper right-hand corner cf
the examination cover sheet and each answer sheet.

Mark your answers on the answer sheet provided. USE ONLY THE PAPER PROVIDED
AND DO NOT WRITE ON THE BACK SIDE OF THE PAGE.

Before you turn in your examination, consecutively number each answer sheet,
including any additional pages inserted when writing your answers on the
examinaticn question page.

Use abbreviations only if they are commonly used in facility literature.
Avoid using symbols such as < or > signs to avoid a simple transposition
error resulting in an incorrect answer. Write it out.

The point value for each guestion is indicated in parentheses after the
guestion.

Show all calculations, methods, or assumptions used to cobtain an answer to
any short answer gquestions.

Partial cradit may be given except on maltiple ! questions,

ANSWER ALL PARTS OF THE QUESTION AND DO NOT LEAVE ANY ANSWER BLANK.

Proportional grading will be applied. Any additional wrong information
that is provided may count against you. For example, if a question is
worth one point and aske for four responses, each of which is worth 0.25
points, and you give five responses, each of your responses will be worth
0.20 points. If one of your five responses is incorrect, 0.20 will be
deducted and your total credit for that guestion will be 0.80 instead of
1.00 even though you got the four correct answers.

I1f the intent of a guestion is unclear, ask guestions of the examiner only.




14.

15.

16.

b

18B.

Page 6

When turning in your examination, assemble the completed examination with
examination guestions, examination aids and answer sheets. In addition,
turn in all scrap paper.

Ensure all information you wish to have evaluated as part of your answer is
on your answer sheet, Scrap paper will be disposed of immediately following
the examination.

To pass the examination, you must achieve a grade of B0O% or greater.

There is a time limit of four (4) hours for completion of the examination.
When you are done and have turned in your examination, leave the examination

area (EXAMINER WILL DEFINE THE AREA). If you are found in this area while
the examination is still in progress, your license may be denied or revoked.




REACTCR OPERATOR Page 7

QUESTION: 001 (1.00)
Given the following:

- The unit is in Mode 5 operations.

- Selid plant conditionsg have been established.

- RCS pressure is being maintained at 360 psig.

- PCV-145 (Low pressure letdown) is in AUTOMATIC.

- PCV-122 (Charging flow control valve) is in AUTOMATIC.

Which one of the following ameters will INITIALLY DECREASE if

instrument air is lost to F. -122? ASSUME no operator action is taken.

a. VCT level.
L. Pressurizer level.
c. Letdown flow.

d. Charging flow.

QUESTION: 002 (1.00)

Which one of the following describes how the position of a locked
throttle valve should be verified during a system valve lineup
verification?

a. Verify the valve locking device is locked. Without operating
the valve, wvisually verify the valve stem position.

b, Verify the valve locking device is locked. Attempt to operate
the valve to ensure stem movement is not possible.

¢. Unlock and close the valve while counting the number of turns.
Recpen the valve the same number of turns and relock.

d. Unlock and open the valve while counting the number of turns.
Recloge the valve the same number of turns and relock.




REACTOR OPEFATOR

QUESTION: 003 (1.00)
Which one of the following positions is responsible for performing the
tag removal actions of a safety tag crder that mechanically isolated a
boric acid transfer pump for maintenance?
a. Journeyman mechanic.
b. Individual accepting the tag crder.

¢. Individual requesting the tag order.

d. Operations group designated operator.

QUESTION: 004 (1.00)

A hypothetical centrifugal pump that transfers water from an open tank
to a pressurized accumulator has a local handswitch and a remote
breaker. The following tagging actions must be taken to isclate this
pump for impeller maintenance.

1. Open the remote breaker.

2. Close the pump suction valve.

3. Close the pump discharge valve.

4. Position the local handswitch to OFF.

Which one of the following is the proper sequence for accomplishing the
above isolation actions when executing a tag order for this pump?

- (N SRRkt P Rl

.



REACTOR OPERATOR Page

QUESTION: 005 (1.00)

Which one of the following is the system pressure above which double
boundary valve isolation should be used to protect a pipe-breach work
area in a cold-water piping system?

a. 200 psig.
b. 600 psig.
c. 800 psig.

d. 1000 pseig.

QUESTION: 006 (1.00)

With the plant in Mode 5, a small accessible area in containment has a
general area dose rate of 1250 mrem/hr. The top of this area CANNOT be
enclosed. Other than appropriate posting, what are the MINIMUM
additional protective measures that must be exe uted for this area?

a. Must be roped off, and a flashing light must be activated.

b. Must be fenced off, and the entrance to containment must be kept
locked.

¢. Must be roped off, and an appropriate radiation monitor must be
placed inside the area.

d. A flashing light must be activated, and the euniLrance to
containment must be kept locked,

9




REACTOR OPERATOR Page 10

QUESTION: 007 (2.00)

Match each radiation area description in Column A with the associated
radiation area classification from Column 8. (0.5 each)

(Numbers from Column B may be used once, more than once, or not at all,
but only a single answer may occupy each answer space.)

Column A Column B
(DESCRIPTICON) {(CLASSIFICATION)
a. A room that contains bags of 1. Radiation Area
radicactively contaminated
material. 2. Contaminated Area

b. A room where dose rate to the 3. High Radiation Area
whole body is 20 mrem/hr.

4. Locked High Radiation
c. A room where dose rate to the Area
whole body is 120 mrem/hr.
5. Radiocactive Materials
o A room that contains significant Area
removable surface radiocactivity.
6. Radiation Controlled
Area

QUESTION: 008 (1.00)

Which one of the following Naticnal Fire Protection Association
classificaticns of fire extinguishers should be applied to a fire
involving energized electrical egquipment?

a. Class A
k. Class B
¢. Class C
d. Class D
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REACTOR OPERATOR - Page 11

QUESTICN: 00% (1.00)

Revision 5 of a safety-related procedure contains two temporary changes,
TCN SA and TCN 5B.

Which one of the following describes the correct use of this procedure?

a. TCN 5A should be used because on.y one temporary change may be
written for a safety-related procedure.

b. NEITHER TCN should be used because Revision 5 is the only
contreolled document.

¢. TCN 5B should be used because the latest temporary change
supersedes all previous temporary changes.

d. BOTH TCN’‘s should be used unless TCN 5B states that TCN 5A is
superseded.

QUESTION: 010 ({(1.00)

Which one of the following contrelled documents must be printed on BLUE
paper?

a. Shared Procedures.
b. Unit 1 Temporary Changes.
¢. Unit 2 Temporary Changes.

d. Shared Temporary Changes.



REACTOR OPERATOR

QUESTION: 011 (1.00)

Technical Specifications require that the Nuclear Instrumentation Power
Range functional test be accomplished on a MONTHLY basis. The last
three dates on which this surveillance was performed are 0600 on

August 15, 0600 on September 19, and 0600 on October 18.

Which one cof the following date/time combinations is the latest date on
which this surveillance can be accomplished without exceeding the
maximum interval requirements of Technical Specifications?

a. By 235% on November 19
b. By 2359 on November 24

c. By 2359 on November 25 .

o}

By 2359 on November 26

QUESTION: 012 (1.00)
Select the combination below that completes the following statement.
Technical Specifications limit overtime for reactor operators such that
an individual shall NOT work more than (X) hours in any 48-hour
period nor more than (Y) hours in any 7-day period (all excluding
turnover time).
a. (X)) 2487 1%} 56

b. {X) 24; (¥) 72

03

(X) 32; (Y) 84

d. (X) 32; (¥) 96

I e e e e T T e T e L T
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REACTOR OPERATOR . . Page 13

QUESTION: 013 (1.00)

A PCB spill area is defined as the area encompassing all visible traces

of PCB oil plus a lateral zone around the entire spill.
a. l-foot
b. 2-foot

¢. 3-foot (1-yard)

d. 5-foot

QUESTION: 014 (1.00)

Given the following conditions on Unit 2:
- CCW pump 2B is aligned to 4160V bus 2G.
- All CCW local/remote selector switches are in "REMOTE".
-~ All CCW pump handswitches on the MCB are in "AUTO".

Which one of the following describes a condition that will automatically
start CCW pump 2B?

a. CCWw pump 2C trips on overload.
5. CCW pump 2A is stopped from the hot shutdown panel.
¢. CCW pump 2C local/remote selector switch is taken to "LOCAL".

d. An "S" signal occurs after CCW pump 2A breaker has been racked
out.




REACTOR OPERATOR Page 14

QUESTION: 015 (1.00)

Which one of the following is an action that must be taken prior to
aligning the "B" CCW heat exchanger as the on-service "A" train CCW heat
exchanger in order to satisfy 10CFRS0 Appendix R reguirements for a safe
plant shutdown with a fire in the cable spreading room?

a. Place "B" CCW heat exchanger service water FCV on its manual
handjack.

b. Lock open the manual valves between "B" CCW heat exchanger and
the "A" train ESF loads.

¢. Lock closed the manual valves between "E" CCW heat exchanger and
the "B" train ESF loads.

d. Manually position MOV-3047, CCW to seccondary heat exchangers
isplation valve, to mid-position.

QUESTION: 016 (1.00)
At high reactor power levels, which one of the fellowing automatic rod
control system components causes the power mismatch error signal gain to
be decreased as power level is increased, thus preventing power
overshoots?
a. Variable gain unit.
b. Nen-linear gain unit.

c. Overpower rod stop circuit.

d. Power mismatch rate comparator.



REACTOR OPERATOR

QUESTION: 017 (2.00)

Match the Bank Selector Switch (BSS) position/plant condition in Column
A with the associated rod speed in Column B. (0.5 each)

(Numbers from Column B may be used once, more than once, or not at all,
but only a single answer may occupy each answer space.)

Column A Column B
(BSS POSITION/PLANT CONDITION) {(ROD SPEED)

AUTO with a 4 degree F temperature . D steps/minute
mismatch.

8 steps/minute
AUTO with a 10 degree F temperature
mismatch. . 32 steps/minute

MANUAL with a 10 degree ¥ temperature . 40 steps/minute

mismatch.

48 steps/minute
SBB during plant startup.

62 steps/minute

72 steps/minute

QUESTION. 018 (1.00)
Which one of the following describes the amount of bank overlap the Bank
Overlap Unit (BOU) is set up to maintain, and in which Bank Selector
Switch (BSS) positicons the BOU is enabled.

a. Maintains 9%96-step overlap, with the BSS in MANUAL or AUTO.

b. Maintains 100-step overlap, with the BSS in AUTO or
CBA/CBB/CBC/CED.

. Maintains 103-step overlap, with the BSS in AUTO or MANUAL.

Maintains 128-step overlap, with the BSS in MAN or
CBA/CBB/CBC/CED.




REACTOR OPERATOR Page 16

QUESTION: 019 (1.00)

Which one of the following combinations correctly lists the reactor
cooclant leakage detection systems that must be OPERABLE during Mode 3
operations?

a. R-11 (containment atmosphere particulate rad monitor) OR R-12
(containment atmosphere gaseous rad monitor).

b. R-11, R-12, AND the containment air cooler condensate level
monitoring system (ALL 3).

c. R-11, AND R-12 OR the containment air coocler condensate level
monitoring system.

d. R-11 OR R-12, AND the containment air cooler condensate level
monitoring system.

QUESTION: 020 [1.00)

Which one of the following combinations describes the penetration
arrangement of the flow detectors that are used to determine RCS loop
flow?

a. One high-pressure tap on the outside of the elbow; three low-
pressure taps on the inside of the elbow.

b. One low-pressure tap on the ocutside of the elbow; three high-
pressure taps on the inside of the elbow.

¢. Three high-pressure taps on the outside of the elbow; one low-
pressure tap on the inside of the elbow.

d. Three low-pressure taps on the outside of the elbow; one high-
pressure tap on the inside of the elbow.
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REACTOR OPERATOR

QUESTION: 021 (2.00)

Page 17

Match each Chemical/Volume Control System (CVCS) penetration listed in
Column A with the associated RCS loop segment in Column B. (0.5 each)

(Numbers from Column B may be used once, more than once, or not at all,
but only a single answer may occupy each answer space.)

Column A
(CVCS PENETRATION)

a. Excess letdown

b. Normal letdown
c. Normal charging path

d. Alternate charging path

QUESTION: 022 (1.00)

Column B

(RCS LOOP SEGMENT)

Loop
Loop
Loop
Loop
Loop

Loop

o
A
B
B
Cc
C

Which one of the following is the reason that
reverse rotation device installed on the pump

intermediate leg
celéd leg
intermediate leg
cold leg
intermediate leg

celd leg

the RCPs have an anti-
rotor?

a. Prevent stator winding damage due to excessive pump starting

current.

b. Prevent backleakage through a tripped RCP when other RCPs are

running.

¢. Prevent damage to the pump thrust bearing due to reverse thrust

direction.

d. Prevent overheating of pump bearings due to a tripped RCP
rotating without normal internal cooling flow.

e e L L



REACTOR OPERATOR

QUESTION:

If Unit 1 is conducting long-term (more than 1 hour) Mode 3 operations
with the rod control system operational
and rod drive motor/generator sets operating), which one of the
following RCS loop operating conditions must be established?

a.

b.

023 (1.00)

One loop OPERABLE and in operation.
Two OPERABLE loope with one loop in operation.
Two OPERABLE loops with two loops in operation.

Three OPERABLE loops with two loops in operaticn.

Page 18

(reactor trip breakers closed



REACTOR OPERATOR

QUESTION:

024 (2.00)

Page 19

Match each precaution for an operating RCP in Cclumn A with the
associated reason from Column B.

(0.5 each)

(Numbere from Column B may be used once, more than once, or not at all,
but only a single answer may occupy each answer space.)

b1}

Column A
(PRECAUTIOCNS)

Maintain 6 gpm =:%1 water
injecticn flow OR CCW flow
to the thermal barrier.

Maintain at least 18 psig
in the VCT.

Maintain at least 200 psid
across the #1 seal.

If CCW flow to the oil
coolers is lost, RCP
operation must stop when
temperature limits are
reached.

Column B
(REASONS)

Prevents damage to the RCP
motor bearings.

Ensures #1 seal is not
riding on the runner.

Ensures cooling for the
lower radial bearing and
the seal package.

Prevents overheating of
motor stator windings.

Ensures adequate seal water
flow to the #2 seal.

Ensures proper #1 seal
leakoff flow is maintained.

Prevents excessive delta-P
across #2 seal.
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REACTOR OPERATOR b page 20

QUESTION: 025 (1.00)

Which one of the following conditions will automatically cause AT LEAST
one VCT cutlet isolation valve, LCV-115C OR LCV-115E, to close?

a. VCT Lo-Lo level detected by LT-112 OR LT-115.
b. VCT Lo-Lo level detected by LT-112 AND LT-115.

¢. VCT Lo-Lo level detected by LT-112 OR LT-115, and both RWST to
charging pump suction valves (LCV-115B AND LCV-115D) fully open.

d. VCT Lo-Lo level detected by LT-112 AND LT-115, and one RWST to
charging pump suction valve (LCV-115B OR LCV-115D) fully open.

QUESTION: 026 (1.00)
Given the following Unit 1 plant conditions:
- 100% power, steady-state
- 1A charging pump running with FCV-122 in automatic control
- Letdown flow (FI-150) = 60 gpm
Which one of the following will occur if VCT level transmitter LT-112
fails HIGH? (Assume NO operator action is taker and all associated
gystems are in AUTOMATIC.)
a. VCT level cycles between 20% and 40%.
b. Letdown isclates due to low VCT level.

c. 1A charging pump cavitates and trips on overcurrent.

|
|
|
d. Charging pump suction shifts to the RWST at 5% actual level.
|
%
|
|
J
|
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QUESTION: 027 (1.00)

Given the following Unit 1 conditions:

The plant is in Mode 5.

Scolid plant conditions have been established.

Tavg is being maintained at 160 F by operation of the "B" RCP.
RHR train "A" is in service with "A" RHR pump running in the
cooldown mode

Low pressure letdown is established on RHR train "A" and the
orifice isolation valves are closed.

Seal injection to each RCP is established at 8 gpm.

With letdown flow at 90 gpm, charging flow at 85 gpm, and RCS pressure

at 370

psig, letdown pressure control valve PCV-145 is placed in manual.

Which one of the following will occur if NO further operator action is

taken?

a.

b.

RCE pressure will remain constant.
PRT level and pressure will increase.

"B" RCP #1 seal differential pressure will fall below minimum.

, VOT level will increase until VCT level control wvalve LCV-115A

diverts.

QUESTION: 028 (1.00}

Which one of the following is a Technical Specifications requirement for

the refueling water storage tank (RWST)?

a.

b.

Water temperature greater than 35 F.

Volume greater than 417,000 gallons.

. Boron concentration greater than 2000 ppm.

. Dissolved oxygen concentration less than 0.1 ppm.

Page 21
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QUESTION: 02% (1.00)
Select the combination below that completes the following statements.

To prevent cverpressurization of either the residual heat removal (RHR)
system or the reactor coolant system (RCS) at low temperatures, the LOW
pressure signal that allows opening C loop RHR inlet isclation valves,
8701A and 8701B, is (X) ; and the HIGH pressure signal that
automatically closes 8701A and 8701B is (Y) :

a. (X) Supplied to both valves from a C loop pressure detector;
; (Y) Supplied to both valves from a C loop pressure detector.

L b. (X) Supplied to both valves from a C loop pressure detector;
. (¥) Split between A and C loop pressure detectors.
|

c. (X) Split between A and C loop pressure detectors;
{(Y) Split between A and C loop pressure detectors.

| d. (X) Split between A and C loop pressure detectors;
(Y) Supplied to both valves from a C loop pressure detector.

f QUESTION: 030 (1.00)
)
The plant is operating at 100% power when a ramped 70% locad reduction
, causes plant pressure to increase steadily, faster than the spray valves
can accommodate. Which one of the following explains why PORV PCV-444B
will open in advance of PORV PCV-445A opening to mitigate the pressure
transient?
a. PCV-444B is physically lower and closer to the pressurizer.
b. PCV-444B is controlled by a proportional-integral controller.
|
i ¢. PCV-444B is a guicker-acting valve with a larger air operator.
I

d. PCV-444B nominal lift setpoint is lower than the PCV-445A
nominal l1ift setpoint.
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QUESTION: 031 (1.00)
Select the combination below that completes the following statements.

In preparation for a plant startup after Mode 5 operations, the plant
and pressurizer have been heated up, and a bubble has been drawn in the
pressurizer. As the plant heatup and pressurization to normal operating
conditions are continued, the indicated level from pressurizer level

detector LT-459 (Channel I) will (X) the actual pressurizer
level, and the indicated level from cold-calibrated pressurizer level
detector LT-462 will (Y) the actual pressurizer level.

a. (X) Converge upon; (Y) converge upon
b. {X) Converge upon; (Y) diverge from
c. (X) Diverge from; (Y) diverge from

d. (X) Diverge from; (Y) converge upon

QUESTION: 032 (1.00)
Select the combination below that completes the following statements.
Due to the available positions of the pressurizer level selector switch,
letdown isolation valve LCV-45% CANNOT receive a low level closure
signal from pressurizer level transmitter (X) ; and LCV-460
CANNOT receive a low level closure signal from pressurizer level
transmitter (Y)
a. (X) 459 (Channel I); (Y) 460 {Channel II)
b. (X) 460 (Channel II); (Y) 459 (Channel I)
c. (X) 461 (Channel III); (Y) 459 (Channel I)

d. (X) 460 (Channel II); (Y) 461 (Channel III)
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QUESTION: 0332 (1.00)
Given the following conditions:
- The off-site grid has been lost on both unite with NO safety
injection on either unit.
- The Unit Selector Switch for the swing diesels is in 1/2.
- Diesel generator 1-2A will NOT start.
If Unit 1 pressurizer heaters are needed to restore plant pressure
during the transient, which one of the following group(s) of heaters
should the Unit 1 operators work on restoring first?
a. Group A only.
b. Group B only.
c. Group A or B - operator’s choice.

d. Group D or E - operator’s choice.

QUESTION: 034 (1.00)
Given the following:

- Unit 1 is at 100% power.

- Reactor protection system (RPS) testing is in progress.
~ Train "B" reactor trip breaker (RTE) is OPEN.

- Train "B" bypass breaker is CLOSED.

-~ Train "A" RTB is CLOSED.

- Trair "A" bypass breaker is OPEN.

Which one of the fcllowing is the Train "A" RTB response immediately
after Train "A" Bypass Breaker is manually taken to CLOSE?

a. Its shunt coil and undervoltage ceoil will be energized.

b. Its shunt coil and undervoltage coil will be deenergized.

c. Its shunt coil will be deenergized and its undervoltage coil
will be energized.

d. Its shunt coil will be energized and its undervoltage coil will
be deenergized.
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. QUESTION: 035 (1.00)

Which one of the following is prevented if 2 of 3 pressurizer pressure
instruments increase above the P-11 setpoint?

a. Manual opening of pressurizer PORVs.
b. Manual block of pressurizer low pressure SI signal.
¢. Automatic opening of closed SI accumulator valves.

d. Automatic pressurizer low pressure SI capability.

' QUESTION: 036 (1.00)

Which one of the following reactor protection system input circuits
contains energize-to-actuate components?

a. RCP breaker trip.
b. RCP bus underfrequency trip.
¢. Reactor coolant loop low flow rate.

d. Reactor coolant loop overtemperature delta-T.

N N Y A e T o k -l
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| QUESTION: 037 (1.00)
Given the following conditions:
- Reactor startup is in progress
- Source range channel N31 indicates 1E5 cps
! - Source range channel N32 indicates 9.5E4 cps
- Intermediate range channel N35 indicates 1.5E-11 amps
- Intermediate range channel N36 indicates 4E-10 amps

Which one of the following statements describes the condition of the
nuclear instruments?

a. N35 is ovevcompensated.
b. N35 is undercompensated.
c. N36é is overcompensated.

? d. N36 is undercompensated.

QUESTION: 038 (1.00)
Given the following conditions:

- Reactor startup is in progress
- - All NI switches are in their normal lineup
i - Intermediate Range (IR) Channel N35 indicates 3E-10
; -~ IR Channel N36 indicates 9E-11
i - No manual blocks have been inserted
! - Power is lost to Source Range (SR) Channel N31
' - Power is maintained to SR Channel N32

]
| Which one of the following describes the plant response to the SR
' Channel N31 power loss?

a. A reactor trip signal is generated resulting in a reactor trip.

b. A reactor trip signal i. generated, but no trip occurs since one
IR channel is above P-6.

c. No reactor trip signal is generated since only one IR channel is
above P-6.

? d. No reactor trip signal is generated, but the level trip switch
must be taken to bypass as soon as N36 indicates above 1E-10.

| |
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QUESTION: 03% (1.00)

Which one of the following states the alarm function of the Detector
Current Comparator section of the Miscellaneous Control and Indication
Panel (top panel) in the Excore Nuclear Instrumentation system?

R

a. Actuates an alarm at 2% deviation between any two power range
channels.

| b. Actuates an alarm when any one detector input is 2% greater than
s the average of the other detectors.
F

c. Actuates an alarm at 4% deviation between the upper and lower
detector of any power range channel.

!

|

g d. Act ates an alarm when the difference between channels in the
selected range (source or intermediate) exceeds 4%.

QUESTION: 040 (1.00)

, Which one of the following circuits uses Loop Tavg as an input, vice
' Median Tavg?

j a. Rod control circuitry.

|

b. Rod insertion limit programmer.

c. Pressurizer level countrol circuitry.

d. Low Tavg feedwater isolation circuitry.

i
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QUESTION: 041 (1.00)
Within €ive minutes after an "S" signal is caused by a large-break LOCA,
which « ie of the following valve actuationg will occur in the RHR-LHSI
systean with NO operator action?
a. RHR pump miniflow valves (FCV-602A/B) go closed.
b. RWST to RHR pump suction valves (MOV-8B09A/B) go open.

¢. RHR to RCS hot legs cross-connect valves (MOV-8887A/B) go
closed.

d. RHR supply to charging pump suction valves (MOV-8706A/B) go
open.

QUESTION: 042 (1.00)

When the Digital Rod Pusition Indication (DRPI) system experiences a
failure of the "A" Data Cabinet, the accuracy range of the DRPI system
becomes +10 to -4 stepe.

Which cne of the following is the accuracy range of the DRPI gystem if
the "B" Data Cabinet fails, instead of the "A" Data Cabinet?

a. +4 to -10 steps
b. 410 to -4 steps

c. +10 to -10 steps

d. <4 to -4 steps
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QUESTION: 043 (1.00)

Which one ¢f the following describes a condition that will to actuate
the "ROD AT BOTTOM" annunciator?

a. Any shutdown bank rod helow 206 steps.
b. Any control bank A rod below 10 steps.

c. Any controel bank B rod below € steps with any control bank B rod
above 6 steps.

d. Any control bank C rod below 12 steps with any contrel bank D
rod above 6 steps.

QUESTION: 044 (1.00)
Given the following:

- Channel "B" of the subcooled margin monitor (SMM) is selected to
the "CETC" mode.

- Hottest RTD = 630 degrees F.

- Hottest core exit T/C = 612 degrees F.

- Hottest upper head T/C = 61¢ degrees F.

- PT-402 = 2255 psig.

- PT-403 = 2260 psig.

- PT-455 = 2210 psig.

- PT-457 = 2240 psig.

Which one of the following wvalues should be displayed on the SMM?

a. 437
b, +39
g. +41
d. +43
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QUESTION: 045 (1.00)

During the performance of a surveillance test, the mode selector switch
on the B train output relay test panel is placed in the TEST position.
If an actual plant condition calling for an automatic safety injection
{8I) occurs, which one of the following will occur?

a. No SI actuation or reactor trip will occur on <ither train.

b. No SI actuation will occur on either train, but the reactor will
trip.

c. 81 actuation will occur on A train only, and the reactor will
trip.

d. 51 actuation will occur on both A and B trains, and the reactor
will trip.

QUESTION: 046 (1.00)

Given the following conditions for containment cooling fan A:

Local /Remote selector switch in REMOTE.
Both remote handswitches in AUTO.
Containment cooling fan A stopped.
Containment cooling fan B running in FAST.

i

Which one of the following will cause Containment Cooling Fan A to start
in FAST speed?

a. Containment Cocling Fan B trips on motor overload.
b. Containment Cooling Fan B trips on bus undervoltage.
¢. Signal from Loss of Offsite Power {(LOSP) sequencer.

d. Signal from Engineered Safeguards System (ESS) sequencer.
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QUESTION: 047 (1.00)

which one of the following describes the location of the reset switches
for the containment cooling fan high vibration trips?

a. All Unit 1 and Unit 2 switches are on their respective BOP
panels in the control room.

b. Unit 1 and TUnit 2 switches are in the respective 139-foot
penetration/filtration rooms.

¢. Unit 1 switches are in the 139-foot penetration/filtration room,
and Unit 2 switches are on the BOP panel.

d. Unit 1 switches are on the BOP panel, and Unit 2 switches are in
the 139-foot penetration/filtration room.

QUESTION: 048 (1.00)

Which one of the following is the method used to prevent an inadvertent
spraydown of containment components due to a loss of detector power or
protective train power, Or an erroneous containment pressure trip signal
sent to the protection system?

a. Two containment pressure bistables must energize to send a
High-3 pressure signal to cause a "P" signal.

b. Two containment pressure bistables must energize to send both
High-1 and High-3 pressure signals to cause a "P" signal.

¢. The spray pumps start on a "P" signal, but the discharge valves
open only if an "S" signal is present along with the "P" signal.

d. The spray pumps start on an "8" signal and recirculate through

the miniflow line, but the discharge valves open only on a "P"
signal.
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QUESTION: 049 (1.00)

Which cne of the following is the reason that the gquantity of aluminum
metal components in the Containment Building is minimized?

b. Aluminum combines with elemental iodine to form an insoluble
salt.

c. Aluminum reacts with sodium hydroxide (NaOH) to produce
hydrogen.

d. Aluminum loses structural strength in a high-energy line break
environment .

QUESTION: 050 (1.00)
Which one of the following conditions should have already caused an
AUTOMATIC Main Steam Isclation on Unit 2? Assume Unit 2 was at 100%
power. Agssume NO lead/lag action occurs.

a. Containment pressure of 17 psig on 2/3 detectors.

b. "B" steam generator water level at 77% on 2/3 detectors.

c. "A" steamline pressure is 590 psig "B" steamline pressure is 588
psig, "C" steamline pressure is 582 psig.

d. "A" steamline pressure is 597 psig, "B" steamline pressure is

|
l
a. Aluminum becomes flammable in a high-temperature Class A fire. |
i
!
X
|
I
i
|
i
:
:
:
I
|
:
492 psig, "C" steamline pressure is 596 psig. i
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QUESTION: 051 {(1.00)
Given the following conditions on Unit 1:
Plant power is steady at 75%.
- All SGWLC controls and MFP speed controls are in AUTO.
- Channel 1V SGWLC detectors are selected as controlling.
~ Rod control is in manual.
Which one of the following is the expected initial response oI the
feedwater regulating valve (FWRV) for A steam generator if turbine
first-stage impulse pressure detector PT-447 (Channel 1IV) iails HIGH and
NO operator action is taken?
a. FWRV remains in its current porition.
b. FWRV modulates open to increase A SG level by about 3%.
c. FWRV modulates closed to reduce A SG level to no-load level.

d. FWRV opens fully and remains open until the Hi-Hi 8G level trip
is reached.

QUESTION: 052 (1.00)
Unit 2 is operating at 55% power when turbine first stage pressure
transmitter PT-446 (Channel III) fails LOW; no other failures occur.
All switch alignments are normal for at-power operations. Which one of
the following describes how the PT-446 failure will affect the steam
dump system?
a. Dump valves will be armed, but will not open.
b. Dump valves receive an open signal, but are not armed.

Dump valves will open to reduce Tavg to match Tref.

¢

d. Dump valveg will open to reduce Tavg to match no-lcad Tavg.
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QUESTION: 053 (1.00)

Given the following conditions:
- "A" gteam generator water level control (SGWLC) in Manual.
- Channel 111 SGWLC detectors selected as controlling.
- All other SGWLC controls and MFP speed controls in AUTO.

Which one of the following detector failures will cause both main feed
pumps to slow down?

a. Feed header pressure detector PT-508 fails LOW.
E b. Steam header pressure detector PT-464 fails HIGH.
¢c. "A" 8C steam flow detector FT-474 (Channel I11I) fails HIGH.

d. "A" S5G steam pressure detector PT-475 (Channel III) fails LOW.

| QUESTION: 054 (1.00)

; With the plant operating at 100% power, which one of the following will
: result in an IMMEDIATE Main Feedwater Isolation?

a. Two protection level transmitters on "A" S/G have failed HIGH.
k. Two protection pressure transmitters on "A" SG have failed HIGH.

i c. One main feedwater pump has tripped and the reactor has failed
to trip.

d. A narrow range hot leg RTT has failed LOW concurrently with a
reactor trip.
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QUESTION: 055 (1.00)
Which one of the following combinations lists the plant components that
are used to provide remote capability to feed the steam generators with
the turbine-driven AFW pump during a station blackout?

a. 120 vac instrument inverter, 48 wvdc battery, air accumulator.

b. AC and DC uninterruptible power supply, 48 vdc battery, air
accumulator.

¢. AC and DC uninterruptible power supply, auxiliary building 125
vdc battery, emergency air compressor.

d. 120 vac instrument inverter, auxiliary building 125 wvdc battery,
emergency air compressor.

QUESTION: 056 (1.00C)

Which one of the following transformere is located in the high-voltage
switchyard of the off-site power system?

a. Autcobank transformer.
b. 1B startup transformer.
¢. Phage C main transformer.

d, Spare startup transformer.

QUESTION: 057 (1.00)

Which one of the following diesel generator (DG) control panels receives
125v DT power from a source without automatic bus transfer device

proteccion?
a. DG 1-2A
b. DG 2B
c. DG 1C
d. DG 2C
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QUESTION: 058 (1.00)
Which one of the following Emergency Diesel Generator automatic engine
shutdown conditions is blocked when the emergency start (ES) relays are
ENERGIZED?
a. Engine overspeed.
b. Engine fail-to-start.

¢. Jacket water low pressure.

d. Generator pha.e differential.

QUESTION: 059 (1.00)

Which one of the following diesels has cooling water supplied by "A"
Train Service Water?

a. 1B Diesel.
b. 1C Diesel.
c. 2B Diesel.

d. 2C Diesel.

QUESTION: 060 (1.00)
Which one of the fecllowing conditions will automatically open the
service water emergency recirculation line valves (MOV-538/539), but
will NOT automatically close the return header to dilution line
isolation valves (MOV-545/546)7
a. Low dilution line pressure.
b. Low service water wet pit level.
c. High dilution line pressure.

d. High service water surge tank level.
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QUESTION: 061 (1.00)
Given the following conditions on Unit 1:

- Rod control is in Manual.

- Reactor power has decreased from 98% to 95% with no operator
action.

- Tavg has decreased 4 F and is continuing to decrease.

-~ RCS pressure is 2216 psig and decreasing.

- Control Bank D rods are noted to be moving inward.

Which one of the following describes the immediate action to be taken
for these conditiong, in accordance with AOP-19.0, "Malfunction of Rod
Control System"?

a. Select Control Bank D and withdraw rods.
b. Reduce turbine load to keep Tavg egual to Tref.
¢. Place rod control in AUTO and determine rod response.

d. Trip the reactor immediately and go to EEP-0, "Reactor Trip
or Safety Injection".

QUESTION: 062 (1.00)

Which one of the fellowing explains why the Unit 1 main generator output
breakers (810/914) are closed as soon as possible after disconnect 915
is opened following an inadvertent unit trip due to an operator error?

a. To prepare the off-site electrical system for a rapid return to
power operations.

b. To minimize the potential for output breaker damage if a breaker
fault occurs.

c. To rapidly restore power to the unit auxiliary transformers by
backfeeding through the main power transformer.

d. To rapidly restore capability of No. 2 230 Kv bus to feed No. 1
230 Kv bus.

l
|
1
|
|
\
|
i
|
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QUESTION: 063 (1.00)
Given the following conditions:

- The unit is at B0% power.
Inadvertent rod insertion has reduced Tavg to 552 F in all loops.

Which one of the following describes the main feed pump (MFP) and
feed: ter regulating valve (FWRV) response if a reactor trip occurs from
th conditions?

a. MFPe trip; FWRVs close.

b. MFPg trip; FWRVs remain open.

(§]

MFPs continue running; FWRVs close.

d. MFPs continue running; FWRVe remain open.

QUESTION: 064 (1.00)
Given the following plant conditions:
- Small break LOCA has occurred.
- Pressurizer pressure is stable at 1350 psig.
- Containment temperature is 185 F.
- Actual pressurizer level is 50%.
Select the combination below that completes the following statement.

The low pressurizer pressure (1350 psig) tends to make the indicated

pressurizer level on LI-460 read (X)__ than the actual pressurizer
level; the high containment temperacure (185 F) tends to make the
indicated level on LI-460 read (Y) than the actual level.

a. (¥X) Lower; (Y) Lower,
b. (X) Lower; (Y) Higher.
c. (X) Higher; (Y) Lower.

d. (X) Higher; (YY) Higher.
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QUESTION: 065 (1.00)
Given the following plant conditions:

- Pressurizer pressure 985 psig.

- Pressure relief tank (PRT) pressure 5 psig.
- PRT temperature 90 F.

- Reactor is shutdown.

Assume ambient heat losses are negligible and the steam quality in the
pressurizer bubble is 100%. Also assume pressurizer and PRT conditions
do NOT change.

At egquilibrium, which one of the following PORV cutlet piping
temperatures would be caused by a leaking pressurizer PORV under these
conditions?

a. 230 F
b. 260 F
c. 300 P
d. 340 F

QUESTION: 066 (1.00)
The PRZR SAFETY VLV TEMP HI annunciator alarmed about 2 hours ago. A
careful RCES leak rate check indicates that the leakage rate associated
with this alarm is 7 gpm, and there is no other RCS leakage. Technical
Specifications defines this leakage as which one of the following?

a. IDENTIFIED LEAKAGE that reqguires a reactor shutdown.

b. IDENTIFIED LEAKAGE that does NOT require a reactor shutdown.

c. UNIDENTIFIED LEAKAGE that requires a reactor shutdown.

d. UNIDENTIFIED LEAKAGE that does NOT require a reactor shutdown.
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QUESTION: 067 (1.00)

Given the following conditions:

A large-break LOCA has occurred.

- Safety injection and reactor trip have occurred.

- Pressurizer pressure is 1100 psig, decreasing.

- BECCS injection flow rates are as required for 1100 psig.
; ~ Subcooled margin menitor is in CETC mode.

L - Crew has just completed immediate actions of FNP-1-EEP-0,
{ "Reactor Trip or Safety Injection".

Which one of the following combinations of containment pressure and RCS
subcooling requires the RCPs to be stopped in accordance with EEP-0

| Foldout?
CTMT PRESSURE SUBCOOLING
(psig) (degrees F)
a. 2l 21
b. T 32
i ¢. 4.3 43
d. 5.4 54

QUESTION: 068 (1.00)

i Whichyone of the following combinations states the reasons for
establis’ ing hot leg recirculation following a large break LOCA?

a. To guench steam in the core and to ensure balanced cooling of
the core.

b. To quench steam in the core and to prevent boron precipitation
in the core.

_ ¢. To gquench steam in the hot legs and to ensure balanced cooling
' of the core.

d. To guench steam in the hot legs and to prevent boron
precipitation in the core.
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QUESTION: 062 (1.00)

o
A
Page 41

Which one of the following se¢ts of conditions will result in an
automatic reactor trip on Reactor Coolant LOW FLOW?

a.,

QUESTION:

Low flow sensed by 2 out

of 3 detectors in 2 out of 3 loops when

operating at 8% reactor power.

Low flow sensed by 2 out
operating at 18% reactor

Low flow sensed by 1 out
operating at 28% reactor

Low flow sensed by 2 out
cperating at 38% reactor

070 (1.00)

of 3 detectors in 1 out of 3 loops when
power.

of 3 detectors in 2 out of 3 loops when
power.

of 3 detectors in 1 out of 3 loops when
power.

I1f the unit is operating at 24% power and "C" Reactor Coolant Pump (RCP)
trips, which one of the following describes how "C" steam generator (8G)
water level and "C" SG steam flow will INITIALLY respond? Assume the

reactor does not trip.

a.

b.

Level decreases and steam flow decreases.

Level decreases and steam flow increases.

Level increases and steam flow decreases.

. Level increases and steam flow increases.
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QUESTION: 071 {1.00)

Given the fellowing plant conditiong on Unit 1:

Under these conditions, which one of the following combinations of valve
actuations will provide an emergency boration flowpath meeting the
requirements of AOP 27.0, "Emergency Boration"?

a.

b.

QUESTION: 072 (1.00)

Which one of the following conditions regquires an emergency boration to
be commenced?

a.

b.

. With the plant at 5. grees F after a reactor trip, a main

Unit is at 80% power.

1A charging pump is running normally.

1B boric acid pump is INOPERABLE due to shorted motor windings.
Emergency boration is required due to actuation of the CONT ROD
BANK POSITION LO-LO annunciator.

Operator attempts te start 1A boric acid pump, but the pump trips
on each attempt.

Open LCV-115B and open LCV-115D (RWST to CCP Suction Valves) .
Open LCV-115D and close LCV-115C (VCT Outlet Isclation Valve).
Cleose LCV-115C and close LCV-115E (VCT Outlet Isolation Valves) .

Open FCV-113A and open V-185 (Manual Emergency Boration Flow ;
Path) . |

Thirty minutes after a reactor trip, both source range detectors
remain off-scale high.

During a reactor startup, a steam dump valve opens and then
closes when the RCS cools down to 543 degrees F.

While at 98% power, Control Bank D rod H14 withdraws
uncontrollably fror 198 steps to 212 steps.

gteam line break cau. a rapid plant cooldown and safety
injection.
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QUESTION: 073 (1.00)
Given the following conditions:

- Unit 1 is in Mode 5.

- Maintenance is being performed on RCS pressure transmitters
PT-402 and PT-403, which is generating a failed high pressure
output signal from both transmitters.

- Hold tags on the breakers for MOV-8701B (EHR pump 1A suction) and
MOV-8702B (RHR pump 1B sucticn) are being removed.

When the hold tags are removed and the breakers are closed, MOV-B8701B
and MOV-8702B go closed because of the high pressure signal, resulting
in a loss of all RHR. Which one of the following describes how either
pump suction valve can be recpened?

a. Hold MCE handswitch in OPEN position to override any auto-close
signal.

k. Hold MOV clutch lever down while operating handwheel to open
valve.

¢. Reppen breaker, actuate MOV clutch lever, and operate handwheel
to cpen valve.

d. Momentarily actuate MCB handswitch to CLOSE to reset the auto-
close signal and then position handswitch to OPEN.
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QUESTION: 074 (1.00)

Given the feollowing conditions:

- Unit 1 is in Mode 6.
- RHR pump 1A is in operation.
- Reactor vessel level is at 122 feet 9 inches (RCS hot leg

centerline) .

RHR Heat Exchanger Outlet Valve (HCV-603A) has just failed open, causing
RHR flow to increase to maximum. If no operator action is taken and RHR
flow remains at maximum, which one of the following would occur to cause
a loss of RHR [low?

a.

b.

RHR pump 1A motor overspeed trip from runout due to low
discharge pressure.

RHR pump 1A motor overcurrent trip due to the high discharge
pressure.

Loss of RHR pump 1A suction due to gas entrainment in the pump
suction line.

. Loss of RHR pump 1A suction due to low net positive suction

head.
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QUESTION: 075 (1.00)

Given the following conditions:
- Unit 1 is at 100% power.
- "A" train CCW surge tank High-Low alarm condition is present.
- CCW surge tank level is LOWERING.
- The makeup valves are OPEN.
- Leak location has NOT been determined.

I1f there is only one leak in the CCW system and it is in one of the

following components, which one is the location of the described leak?

For each couponent, assume the associated system is operating.
a. Letdown heat exchanger.
b. Excess letdown heat exchanger.
c. Spent fuel pool heat exchanger.

d. Primary sample cocler heat exchanger.

QUESTION: 076 (1.00)

Which one of the following combinations of conditions will cause the RCP
thermal barrier CCW isolaticn valves to close automatically?

a. Supply line pressure drops to 75 psig; supply line flow
increases to 160 gpm.

b. Supply line pressure increzses to 75 psig; discharge line flow
drops to 160 gpm.

c. Discharge line pressure drop< to 75 psig; supply line flow drops
te 160 gpm.

d. Discharge line pressure increases to 75 psig; discharge line
flow increases to 160 gpm.

I — a——
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. QUESTION: 077 (1.00)
_ Given the following conditions:

! - Unit 1 is operating at 100% power.
| - A failure of the controlling pressurizer pressure channel has
caused actual pressure to increase to 2283 psig.
- Pressurizer Pressure Master Controller M/A station PK-444A is now
in MANUAL.

Which cone of the following describes the master controller M/A station
action required to increase the spray flow rate to return actual
pressure to its normal value of 2235 psig?

a. Raise the pressure setpoint adjustment.

b. Lower the pressure setpoint adjustment.

¢. Increase the M/A station output (% demand) .

d. Decrease the M/A station output (% demand).

QUESTION: 078 (1.00)

c Which one of the following compares the severity of the plant pressure
| transient produced by a pegged HIGH failure of pressurizer pressure

i detector PT-444 versus the severity of the plant pressure transient

| produced by the same failure in PT-445. Assume that the failures occur
geparately, with the plant at stable full power operations, with all
controls in AUTO, and that NO cverator action is taken in either case.

a. The pressgure drop rat: will be smaller for the PT-444 failure.
b. The pressure drop ratw will be the same for the two failures,

but the PT-445 failure will result in a lower final plant
pressure,

c. The pressure Jdrop rate and overall plant pressure drop will be
the same foir the two failures.

B I, S,

d. The pressure drop rate and overall plant pressure drop will be
greater for the PT-444 failure.




EACTOR OPERATOR

QUESTION: 079 (2.00)

Match each action in Column A with the associated pressurizer pressure
(0.5 each)

setpoint in Column B.

(Nunbers from Column B may be used conce, more than once,
but only a single answer may occupy each answer space.)

Column A
{(ACTION)

a. Backup heaters energize.

b. Reactor trip on pressure.

¢. Be in HOT STANDBY within an hour.

d. Automatic closure of pressurizer
PORVSs

or not at all,

Column B

(SETPOINT)

&

2735

2500

2335

2210

2000

1550

1865

1850

psig
psig
psig
psig
psig
psig
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| QUESTION: 081 (1.00)

f According to the Resgponse NOT Obtained (RNO) actions of 1-FRP-£.1,

i "Response to Nuclear Generator/ATWT", which one of the following actions
must be performed if the main turbine will NOT trip using the MAIN TURB
EMERG TRIP switch during ATWT conditions?

: a.

i > <

QUESTION: 080 (1.00)

Given the following conditions:

Which one of the following describes the effect on PZR level and
pressure when the plant load is increased toward 100%?

b.

OPERATOR - Page 48

Unit 1 is at 50% power.
All automatic control systems are in their normal lineup. ;
The controlling pressurizer (PZR) level transmitter fails at the
programmed level that corresponds to 50% plant load.

ASSUME no cperator action is taken.

Charging flow increases, and actual PZR level and pressure
remain constant.

Charging flow decreases, and actual PZR level decreases. At 15%
actual level, letdown will isolate and the PZR heaters will cut
off; pressure decreases.

Chargiug flow increases, and actual PZR level increases. The
backup heaters energize as level rises due to the apparent
insurge and pressure increases.

Charging flow remains constant, and actual PZR level decreases.

At 15% actual level, letdown will isolate and the PZR heaters
will cut off; pressure decreases.

Stop both EH pumps.
Close turbine gJovernor valves.
Open generator output breakers.

Run back the turbine to no-load conditions.
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QUESTION: 082 (1.00)

Which one of the following states the number of separate plant
conditions listed in immediate action step 4.1 of FRP-S.1, "Response to
Nuclear Power Generation/ATWT," that must be checked to determine if
emergency boration is reguired in an ATWT condition?

a; 3
b. 4
e ®
d. 6

QUESTION: 083 (1.00)
v Given the following conditions:

- Unit 1 reactor startup is in progress; startup rate is 0 dpm.

- Reactor power is stable at the point of adding heat.

- N-35 Intermediate Range (IR) channel has just failed LOW.
Technical Specification 3.1.3.1, "Reactor Trip System Instrumentation"
lists the required actions for an IR channel failure based on the
relationship of the current power level to P-6, 5%, etc.

Which one of the following states the approximate current power level?

a. Less than P-6.

b. Between P-€ and 5%.

¢. Between 5% and P-10.

d. Greater than P-10.
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QUESTION: 084 (1.00)

Given the following conditions:

A reactor trip and safety injection have occurred.
- Both motor-driven AFW pumps are inoperable.

- Use cof the turbine-driven AFW pump is required.

- A tube rupture exists in SG "B" or SG "C".

Select the combination below that completes the following statement.
In accordance with EEP-3, "Steam Generator Tube Rupture," the location
at which steam to the turbine-driven AFW pump from the ruptured SG must
be isclated is the (X) if the rupture is in "B" S8G, and is the
{y) if the rupture is in "C" SG?

a. (X) MCB; (Y) HSP.

b. (X) HSP; (Y) HSP.

¢. (X) HSP; (Y} Aux Bldg main steam valve room.

d. (X) Aux Bldg main steam valve rocm; (¥Y) HSP.

QUESTION: 0BS5S (1.00)

After a ruptured steam generater (8G) has been isoclated, EEP-3, "Steam
Generator Tube Rupture," directs a rapid RCS cooldown tc a selected core
exit temperature derived from an EEP-3 taktle. Which one of the
following is the basis for the selected ccre exit temperature derived
from the EEP-3 table?

a. Allows maximum amount of cooldown without exceeding pressurized
thermal shock limits.

b. Ensures 20 degrees of subcooling i# maintained during the
subsequent RCS depressurization.

¢. Minimizes inleakage into the ruptured S/G until the subsequent
RCS depressurization can be initiated.

d. Prevents backleakage from the ruptured 8/G until the subseguent
RCS depressurization can be initiated.
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QUESTION: 086

REACTOR OPERATOR

(1.00)

During *he initial phases of a faulted steam generator (SG) accident,

before Main Steamline Isclation and Feedwater Isclaticn occur,

the MCB

indication trends will differ, depending on whecher the break is on a
feed line or on a steam line.

Which one of the following trend combinations is indicative of a large
feed line break prior to Main Steamline/Feedline Isolation?

a .

b.

B e i s

RCS Tavg
Decreasing

Increasing

. Decreasing

Increasing

RCS Loop Delta-Ts
Decreasing
Decreasing
Increasing

Increasing

PRZR Pressure
Increasing
Increasing
Decreasing

Decreasing

SG Level
Increasing
Decreasing
Increasing

Decreasing
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QUESTION: 087

REACTOR OPERATOR

{1.00)
Given the following conditions on Unit 1:

A reactor trip WITHOUT SI occurred about 12 minutes ago.

- The crew is carrying out 1-ESP-0.1, "Reactor Trip Response."

- Loss of offsite power has just occurred on Unit 1.

- Unit 1 diesel generators will NOT start.

- Unit 1 4160V ESF buses F, G, K, and L are deenergized.

- The STA reports the status of the Critical Safety Functions
{CSFs) has just changed to the following:

Heat Sink - RED
Subcriticality - GREEN
Containment - GREEN
Inventory - YELLOW
Core Cooling - RED
Integrity - GREEN

' Which one of the following procedures should be used in response to

these conditions?

a. 1'FRP°C~1.
b, 1-ESP-0.2,
c. 1-FRP-H.1,

d. 1-ECP-0.0,

"Response to Inadequate Core Cooling”
"Natural Circulation Coocldown™
"Response to Le:s s of Secondary Heat Sink"

"Loss of All AC Power"
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QUESTION: 088 (1.00) |

Given the following conditions:

Which one of the following casualty combinations will result in 4160v

a.

l Bus 2H
|

QUESTION: 082 (1.00)

| Both units are operating at rated power with all diesel generator
lineups and startups normal for at-power operations. Which one of the
following describes the automatic operation of DG 1-2A output breaker if
a simultaneous dual unit Loss of Offsite Power (LOSP) cccurs coincident

with a

| DG 1-2A will align to:

|
[ REACTOR OPEFATOR Page 53

b.

a.

T T e T P T e i R R R R T R R B B B Rl I e T B o R w]

All diesel generator Mode Selector Switches are in Mode 1.
All diesel generators will start and load as required, if
demanded .
The Unit Selector Switch for the swing diesels is in 1/2.
Both Units are operating near 100% power.
remaining deenergized until it is manually energized?
Dual Unit LOSP.
LOSP Unit 2, SI Unit 1.

Dual Unit LOSP, SI Unit 1.

LOSP Unit 2, SI Unit 2.

safety injection (8I) on Unit 2?

1F, and will realign to 2F in the event of a subseqguent SI on
Unit 1.

1F, and will remain aligned to 1F in the event of a subsequent
81 on Unit 1.

2F, and will realign to 1F in the event of a subsequent SI on
Unit 1.

2F, and will remain aligned to 2F in the event of a subseguent
SI on Unit 1.
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QUESTION: 090 (1.00)

> Which one of the following describes a condition that will automatically
: stop the discharge of a Waste Monitor Tank?

a. Actuaticn of the "LIQ OR GS PROC PNL TRBL" alarm on the MCB
annunciator panel "M".

b. Drumming area radiation monitor, R-08, goes into alarm.

Waste Panel.

d. Radiocactivity level exceeds alarm setpoint on liquid radwaste

%
.
5
|
i c. Liguid discharge flow rate exceeds 45 gpm as read at the Liguid
)
|
| effluent monitor, R-18.

|

QUESTION: 091 (1.00)

f Which one of the following valves will CLOSE upon a loss of instrument
' air to the penetration room?

a. Boric acid to blender valve (FCV-113A4).
b. Makeup water to blender valve (FCV-114B).
c. Alternate charging valve (HV-8146).

d. Seal water injection wvalve (HCV-18B6).

IR, P g — —
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QUESTION: 092 (1.00)

Given the following conditions:

]

The control room has been evacuated due to a fire.

Contrel of all components has been transferred to the Hot
Shutdown Panels (HSPs) .

The electrical lineup for "C" charging pump is normal, with the
exception of the HSP switch being in LOCAL.

"B" charging pump is connected to electrical Train B and running.
A valid SI signal has  ust been received.

Which one of the fellowing describes the "C" charging pump response to

the SI

signal?

The "C" pump will:

a.

b.

Start, and remain running until the 81 is reset.

Start, and remain running until "B" charging pump automatically
starts.

. Not start, but the operator may start the pump using the HSP

switch after resetting the SI.

. Not start, but the operator may start the pump using the HSP

switch without resetting the SI or stopping B charging pump.
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QUESTION: 093 (1.00)

After a Containwent Spray (CS) Actuation, one criterion for stopping the
CS pumps is that 20% of the spray additive tank contents have been
sprayed into containment. Which one of the following states the other
criterion for stopping the CS pumps after a containment spray actuation?

#. After 2 hours of containment spray recirculation flow for a
faulted steam generator (SG) and for a LOCA.

b. When containment pressure is less than 16 psig for a LOCA and
for a faulted SG.

c. After 2 hours of containment spray recirculation flow for a
faulted 5G; when containment pressure is less than 16 psig for a
LOCA.

d. After 2 hourge of containment spray recirculation flow for a

LOCA; when containment pressure is less than 16 psig for a
faulted SG.

QUESTION: 094 (1.060)

After a reactor trip, Critical Safety Function Status Tree {(CSFST)
monitoring must begin whea the crew:

a. Completes the immediate actions of EEP-0, "Reactor Trip or
Safety Injection."

b. Exits from EEP-0 to ESP-0.1, "Reactor Trip Response," at step 4
of EEP-0.

c. Identifies the symptoms of a challenge to a fission product
barrier, v.ienever the challenge occurs.

d. Enters the Emergency Response Procelures (ERPs), beginning with
step 1 of EEP-0 or ECP-0.0, "LOSS ("F ALL AC POWER."
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QUESTION: 055 (1.00)

Given the following conditions:
- Unit 1 is at 98% power.
- RCS activity level is normal for this power level.
- Containment minipurge is operating.

Which one of the following radiation monitors will be the first to
detect a very small RCS leak under these conditions?

a. R-11, Containment Atmosphere Particulate.
b. R-12, Containment Atmosphere Gaseous.
¢. R-21, Plant Vent Stack Particulate.

d. R-24, Containment Purge Gaseous.

(Fdkrdrh v EN‘D OF EX_AMINATION **t*iiiii*)

e e U



—— e e s — e

N

REACTOR OPERATOR

ANSWER : 001 (1.00)

REFERENCE :

LP OPS-52101F, pg. 36

KA G04010R204 [3.6/4.2]
10/92 exam
004010A204 .. (KEA's)
ANSWER : 002 (1.00)
a.
REFERENCE :

FNP-0-AP-16, Table 1, Appx.

KA 194001K101 [3.6/3.7]
194001K101 .. (KA's8)
ANSWER : 003 (1.00)
d.
REFERENCE :

FNP-0-AP-14, pg. 3-9

KA 194001K102 [3.7/4.1]

124001K102 .. (KA's)
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ANSWER : 004 (1.00)
d.

REFERENCE :
FNP-0-AP-14, pg. 18-20

KA 194001K102 [3.7/4.1]

194001K102 .. (KA"8)

ANSWER : 005 “1.00)

e

REFEKENCE :
FNP-0-AP-14, pg. 19

KA 124001K109 [3.4/3.4)

194001K109 .. (KA"8)

ANSWER : 006 (1.00)

a.

REFERENCE :
Tech Spec 6.12.2

KA 194001K103 (2.8/3.4]

154001K103 .. (KA'B)

Page 59
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ANSWER : 010 {(1.00)

C.

REFERENCE :
FNP-0-AP-4, pg. 7

KA 194001A101 {3.3/3.4]
194001A101 .. {(KA'"8)
ANSWER : 011 (1.00)
=4

REFERENCE :
FNP Technical Specifications, para. 4.0, p. 3/4 0-2

KA 1940012106 [3.4/3.4)
194001A106 .(KA'8)
ANSWER ; r1z  (1.00)
b.

REFERENCE :
Tech Specs 6.2.2.f, pg. 6-2

KA 194001A109 [2.7/3.9]

194001A109 .. (KA*B)
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ANEWER : 013 (1.00)

a.

REFEFENCE:

FNP-0~AP-60, pg. 3

KA 194001A112 [3.1/4.1)
154001A112 (KA'8)

ANEWER : 01

SN

REFERENCE :

00B000OK40G1 .. {KA"8)

ANSWER : 015 {

o

a.

REFERENCE :
LP OPS-521026, Obj. 23

KA QO0BOQDK101 (3.173.1]

008000K101 .« KA 8)
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ANSWER : 016 (1.00)

a.

REFERENCE :
LP OPS-402041/52201E

KA 001000A301 [4.1/4.0]

001000A301 .. (KA"8)

ANSWER : 017 {(2.00)

QoUW
3l

(0.5 each)

REFERENCE:
LP OPS-402041/52201E, pg. 11, 12

KA 001010K404 [2.6/2.8]

001010K404 .. (KA’ 8)

ANSWER : 018 {(1.00)

C.

REFERENCE :
LP OPS-52201E, Objective 16
KA 001000K402 [3.8/3.8]

001C00K402 .. (EA’s)

P e P ——————
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REACTOR OPERATOR

ANSWER : 022 (1.00)

a.

REFERENCE :
Farley Exam Bank Question 052101D009S

KA 003000A203 ([(2.7/3.1]
003000A203 .« (KA’ 8)
ANSEWER : 023 (1.00)
C.

REFERENCE :
Tech Spec 3.4.1.2

KA 002000G00S [3.4/3.8]

003000G00S5 .. (KA’ 8)

ANSWER : 024 (2.00)

a. 3

. &

(SO

d. 1 {0D.5 each)
REFERENCE :

Farley exam bank question 052101D05034

KA 003000G010 ([3.3/3.6]

¢03000G010 .. A\KA'8)
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ANSWEE : 025 (1.00)

d.

REFERENCE :
LP OPS-4030iF/52101F, pg. 33

KA 004020R305 [3.2/3.0]
004N20A305 (KA’ 8)
ANSWER : 026 (1.00)
a.

REFERENCE:
Farley exam bank question 052101FT1043R

KA 004020A305 [3.2/3.0]

0040202305 .. (KA'8)
ANSWER : 027 (1.00)
b.
REFERENCE :
Far sxam ank question 052101FT1041R

KA 005000K401 [3.0/3.2]

005000K401 .. (KA'g)
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ANSWER : 028

a.

REFERENCE :
Tech Spec 3.5.

KA 006000G005

006000G0O0S

ANSWER : 029

d.

REFERENCE :
LP OPS-52101K,

KA 005000K407

OD5000K407

ANSWER : 020

b.

REFERENCE :
LP OPS-52201H,

KA 010000K403

010000K402

(1.00)

[3.5/4.2]
(KA’ 8)
(1.00)
pg. 6

I N /7
‘7-!‘ ) /2 f]

2 @ a2}

f 1 d [
. (KA's)

(1.00)

J

]
-

Ob3j

1, PY.

[3.8/4.1]

.. {KA" 8)

-
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ANSWER : 631 (1.00)
b B

REFERENCE :

LP OPS-52201H, pg. 19, 20

KA 011000A104 [3.1/3.3]

011000A104 .. (KA"B)

ANSWER : 032 (1.00)
B

REFERENCE : , |
LP OPS-52201H, Obj. 16, fig. 7

KA 011000K406 [3.3/3.7]
011000K406 .. (KA"8)
ANSWER: 033 (1.00)
b.
REFERENCF :
LP OPS-52201H, Obj. 6
LP OPS-52103B, Fig. 8

KA 010000K201 [3.0/3.4)

} 010000K201 .. (KA‘s8)

e, - L
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ANSWE « : 034 (1.00)
d.

REFERENCE :
LP OPS-522011, Obj. 14, pg. 24

KA 012000K401 [2.7/4.0]
012000K401 .« (KA’8)
ANSWER : 035 (1.00)
b.

REFERENCE:
LP OPS-522011, pg. T-5c¢

KA 012000K610 [3.5/3.5]
012000K610 .. {KA's)
ANSWER : 036 (1.00)
b.

REFERENCE : %
Farley LER 93-001

KA 012000A202 [3.6/3.9]

012000A202 .. (KA'8)
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ANSHWER : 037 (1.00)

&

REFERENCE :

LP OPS-52201D, Obj. 6, Fig.

KA 015000R303 [3.9/3.9]

015000A30G3 .. (KA's)
ANSWER : 038 (1.00)
a.
REFERENCE ;

LP OPS-522011, pg. 50

KA 015000K301 [3.9/4.3]

015000K301 . « (KA’ B)

ANSWER : 039 (1.00)

b.

REFERENCE :

LP OPS-52201D, Otj. 29, pg.

KA 015020K504 [3.2/3.6]

015020K504 .. {KA"8)
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ANSWER : 040 (1.00)
d.

REFERENCE :
LP OPS-52201J, Obj. 3, 4, pg. 11,
KA 016000K403 [2.8/2.9]

016000K403 .. (KA'8)

ANSWER : 041 (1.00)

a.

REFERENCE :
LP OPS-52102B, pg. 9, 10

KA 013000K106 [4.2/4.4]

013000K106 .. (KA’ 8)

ANSWER : 042 (1.00)

a.

REFERFPCER -

14

LP OPS-52201F, Obj. 5 & 7, pp. 13-14

KA 014000A102 [3.2/3.6]

014000A102 .. (KA’ 8)

Page 71
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ANSWER : 043 (1.00)

REFERENCE :

LP OPS-52201F, pg. 15, Obj.

KA 014000K403 ([3.2/3.4)

014000K403 .« (KA’ 8)

ANSWER : 044 (1.00)

L«

REFERENCE :
LE OPS-52202E, Obj. 14

KA 017020A402 [3.8/4.1)

0170202402 .. (KA’ B)

ANSWER : 045 (1.00)

e .

REFERENCE :

8

LP OPS-522011, Obj. 26; Exam Bank Question 052201109063

KA 013000K502 [2.9/3.3]

013000K502 .. (KA’ 8)
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ANEWER : 046 (1.00)

a.
REFERENCE :

LP OPS-52102C, Obj. 11, pg. 19, 20

KA 022000R201 [2.5/2.7]

0220004201 ..{KA'"8)

ANSWER : 047 (1.00)

C.

REFERENCE :
LP OPS-52102C, Obj. 11, p. 22

KA 0220002401 [3.6/3.6]

022000A401 .. (KA'8)

ANSWER : 048 (1.00)

REFERENCE :
LP OPS-52201I, pg. 11

KA 026000A301 (4.3/4.5]

026000A301 .. (KA'8)
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ANSWER : 049

~
L

REFERENCE:
LP OPS-52102D,

KA 02800CKS503

028000K503

ANSWER : 050 |
a .
REFERENCE :

LP OPS-522( 11,

KA 032000K405

039000K405
ANSWER : 051 |
a.
REFERENCE:

LP CPS-52201B,

KA 035010A203 [:

035010A203

1.00)

Obj "

(2.9

1.00)

1.00)

1,

3

14
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ANSWER : 052

b.

REFERENCE :
LP OPS-52201G,

KA 041020A102

041020A102

ANSWER : 053

d.

REFERENCE :
LP OPS-52201B,

KA 059000K405

59000K405

ANSWER : 054

a.

REFERENCE :
LP OPS-52201K,

KA 059000A412

059000A412

£{1.00)

Fig.

[3.1/3.

(1.00)

Obj .

[2.5/2

. (KA

{1.00)

Obj .

[R.4/3.

9.

-~ ¥

15,

. 8]

Farley exam bank 052201G16035

Fig.

s)

14
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A WER: 055 (1.00)

b.

REFERENCE :
LP OPS 52102H, Obj. 18, 22; pg. 9, 10

KA 061000K201 [3.2/3.3]

061000K201 L (KA'"8)

ANSWER : 05¢ (1.00)

a.

REFERENCE :

p—t
L
—

~
-
»
3
-
P
=
-
-t
d

ANEWER : D57 (1.00

D.

REFERENCE :
LF OP5-52103C, Obj. 3, pg. 8

KA 063000K401 [2.7/3.0]

06e3000K401
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ANSWER : 058

£

REFERENCE :
LP OPS~-521021,

KA 064000K402

064000K402

ANSWER : 059

b.

REFERENCE :
LP OPS~-40101B,

KA 076000K105

076000K105%

ANSWER : 060

G-

REFERENCE :
LP OPS-52102F,

KA 076000A202

0760007202

(1.00)

OF3. 22, 8.

[2.9/4.2]

(1.00)

Obj. 13, Fig.

(3.8/4.0]

. (KA’ 8)

(1.00)

obj. 21, pg.

(2.7/3.1])

.. {EA’'s8)
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ANSWER : 064 {1.00)

d.

REFERENCE :

000008A212
ANSWER: 065 (1.00
e
REFERENCE :

Steam Tables

KA OCOOO0BEK302 [3.86

00000BK302

-

ANEWER :

=

N

N
2

1.00

b.

REFERENCE:

ot
]

o

0

T.5. 1.0 Definitions and T

KA 000009G003 [3.5

000009G0O03
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ANSWER ; 067

o e

REFERENCE .
EEP-0 Foldout

KA OO0011A103

000D11A103
ANSWER : 068

b,

REFERENCE ;

LP OP8-52102E8,
LP OPS5-52531H,

KA 000011K313

10/82 exam

000011K313

ANSWER : D69

.

REFERENCE :
LP OP5-522011,

KA C00015G011

QODODIEGO11

OPERATOR

Page B0 !

(1.00)

[4.0/4.0)

AKA'8)

{1.00)

Oby. 11,
Dby 12,

[3.8/4.2]

[¥n
CAKA'S)

(1.00)

Obj. 18, Table 1 i

(KA’ 8)
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ANSWER : 073 {1.0

o
o

c.

REFERENCE
LP OPS-52520L, Obj. 6, pg. 7

KA 000025A110 [3.1/2.9]

000025A110 . . (KA’ g)

ANSWER : 074 (1.00)

e .

REFERENCE :
LP OPS-52520L, Obj. 3, pg. 6

KA 000025K101 [3.9/4.3]

000025K101 .. (KA"8)

ANSEWER - 07% {1.00)

48

REFERENCE:
LP OPS-52102G, Obj. 4 & 22 and P&ID D-175002

KA 000026A201 (2.9/3.5]

000026R201 .. (KA’ 8)
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REFERENCE :
EEP-3, pg. 5; LP OPS-52107Y Obj. 20

KA 00003BA132 [4.6/4.7]

O00038A132 .. \KA"8)

ANSWER : 085 {1.00)

b.

REFERENCE :
LP OPS-52530D, Ob3j. 12, 13, pg. 45

KA OOO0OO3BA1236 [4.2/4.5)

OC0038A136 (KA'8)

ANSWER : 086 {1.00)

b.

REFERENCE
LP OPS-52530C, Ppg

KA 000D040A201 (4.2/4

000C40A201 . KRA’'8)

ANSWER : 087 (1.00)

d.
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REFERENCE :

ECP-0.0, pg. 1, 2
LP OPS-52532A, Obj. 4

KA 000055G012 (3.9/4.0]
10/92 exam

000055G012 . . {KR’8)
ANSWER : 088 (1.00)
d.
REFERENCE :

KA 000056A214 [4.4/4.6]

000056A214 .. {KA"E)
ANSWER : 089 (1.00)
d.
REFERENCE ;

LP OPS-52103F, Obj. 1.D, pg. 33, 34

J

KA 0000564214 (4.4/4.6
10/92 exam
000056A214 KA'SE
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REFERENCE :
LP OPS-52530B, Obj. 10, pg. 24

KA 000069K301 [3.8/4.2]

000069K301 .. (KA’ 8)

ANSWER : 094 (1.00)

b.

REFERENCE :
SOP-0.8

KA 000069G012 [3.5/3.5]

000069G012 .. (KA'8)
ANSWER : 095 (1.00)
a.
REFERENCE :

LP OPS-52106D, Obj. 7, pg. 7
KA 000076K201 [2.6/3.0]

000076K201 , . (KA’ g)

:_’tt*iiitit E"'Irv ;:)F EXMA‘IN;“TIOI; LA RS S R AR RN






REACTCOR

MULTIPLE

CH(

OPERATOR

T R

N

9

o

WER

>

067
68
69

K

v

a

a

b

03



REACTOR OPERATOR

A N

070 a
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a 4
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C 1
d 5
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080 <
081 b
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